EARAZROREIERT — 2 N—XBISY —F 20185F9H9H (H) 12@11A&E1H

LN mFsR] B 5% 381 B R
[AE4£] 1 7% :550,000 @ ~ 23#&:165,000  ~ 3 #&:55,000H ~ 43#&:33,000H”  53&:22,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e # o5 | WO 1:54.1 3-4-2-1 | 38.1| — 1 493 | ABMRKX (EH)
1PN 4| ) ETIAA 57.0 =) © (R) JPN;EH
L:O—-J X124 B2 IF) 2 ET FEFL BE
5 4 5 | FERES 1:54.8 1-1-1-2 [39.2| — 4 435 | BBITIE (1EH)
2K} 3 J—RZ—7 54.0 (4) (-8) EHE
L:x>vvH/xt% B:HFIILT pailz:be )
o RHEET . -5-4- — hEFE ((£%5)
355 | T4 RISHY it 4 e 1.(525>.2 4-5-4-3 | 38.8 2 (g;s) Bl ®
LI INATA—H— B:7F Nipse]
. BHEIFE : 05 = BHEXE (£H)
N Y% i 3 ok 1.(586).7 2-2-5-5 | 40.4 3 (:?;) m%
R:viNnNyBgLhHT1 BEYLF-TLESH 1 2 X5
NS T 7 | BEER—S 1:57.0 5-3-3-4 | 41.0| — 6 463 | WWHETEA (ER)
5011 Lh—2INX T T 54.0 (1 1/2) (-2) ARZEI
LA xNTT BULHERx— Eitie]
i 5 | TTER 1:57.2 6-66-6 |39.8| — 5 455 | LUEZEN (ERB)
6l8lg|FFY 54.0 (3/4) @) |BAEF
R:TVATF4IVE— BHIF—P v Ry HEFHRF—T I
S — 4 3 | SHIEE 1:57.3 8-8-8-7 [39.5| — 8 445 | AR (£H)
] 2 '{TU_T’f - 54.0 (3/4) (0) KET -
R:7U*—-v B:IYEU-FT1— LRSS
. REE_ : == — AT (1£8)
glzl7|H7uxyy H o4 o 1.(578).6 7-7-7-8 | 41.1 7 (4;7) Jﬁx%;-
R:ZEg—YriA—-X B:5TX¥vTTI— WA (517
@ 1—F—@&BIEf
13=zr= 3,6,4,5,1,8,7,2
Aol=5r= 3,6,1,4,5,8,7,2
G§a=7r= 3,4,1,5,6,8,7,2
43—+ — 4,3,5,1,6,8,2,7
[ RN
B OB 4 180M 714K 3-4 220M B E 3-4 800M &R 3-4-5 1,240H
% B 4 120 4-5 200 | | & & 4-3 1,150 | | 3:&=& 4-3-5 4,370M
3 1704 3-5 470
5 110

ABICOVWTRDTEEERROODE. TR LIV,



